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B2. o) Def tipose(self):
if self.vathmos >= 10:
print ‘TIpodyetan’
else:

print ‘TTapanéuneton’

B) mathitis1 = Mathitis(103, ‘NwoAidov’, 19)
mathitis2 = Mathitis(105, ‘T'ewpyiov’, 9)

Y) mathitisl.tipose()

d) mo = (mathitisl.vathmos + mathitis2.vathmos) / 2



B3. (1)0
(2) word
(3) letter
(4)m
®)1
(6) m

OEMA T
def ypologismos(temaxia):
if temaxia <= 3:
Xr = temaxia*120
elif temaxia <= 6:
xr =3*120 + (temaxia-3)*100
else:
xr =3*120 + 3*100 + (temaxia-6)*70

return Xr

sum=0

pl=0

for i in range (0,50):
temaxia = int(input(‘A®ote apOuod tepoyioy’)
Xr = ypologismos(temaxia)
print ‘H ypéwon sivar ’, Xr
sum += xr
if temaxia>10:

pl+=1
print sum

print (pl/50)*100



OEMA A
kwd = raw_input(‘Adcte tov K®d1KO TOL VITOYNEIOV’)
KOD =[]
VATH =[]
sum=0
pl=0
max = -1
while kwd != ‘TEAOX’:
vathmologia = int(input(‘A®ote v Babuoroyia’)
KOD.append(kwd)
while vathmologia<1 or vathmologia>100:
vathmologia = int(input(‘A®ote v Babuoroyia’)
VATH.append(vathmologia)
sum += vathmologia
pl+=1
if vathmologia>max:
max = vathmologia
print sum/pl
for i in range(0, len(KOD)):
if VATH]Ji]= = max
print KODIi]
f = open(‘epityxon.txt’, ‘W’)
for i in range(0, len(KOD)):
if VATH][i]>60:
strl =i+ > + KOD[i] + ‘\n’
f.write(strl)

f.close()

OPOXHMO PA®HNAX
XINTY MIIOYXIOY



